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1. wommsLrs,

(1) 3—3x (—6) (2) 3—2x (-9)
(3) =3+ (=7) x 3 (4) (—54) = (—9) + (-5)
(5) 9 — (—14) = (=7) (6) (—21) = (=7) — 4
(7) —4 + 48 =+ (—6) (8) (—3) x 4 +2
(9) (=20) +(=4) = (=1) (10) 2 =4 x(=T7)
(11) 24+ (—6) — 7 (12) =3 +4 x (=5)
(13) 4 x (—2) +6 (14) 9 x (=9) + (-5)
(15) 7—(~15) =5 (16) 49 = (=7) + (=5)
(17) (=4) x (=4) +1 (18) =54 (—9) x 2
(19) =6+ 7 x (—9) (20) 7—18 = (—9)

— 13th-note —



2.

WOFHHERZ LIRSV,

(1) =7x(=4) + (=8) x (=8)

(3) 45+ (—9) — (—28) + (—4)

(5) —2x5—54+6

(7) —2x5-12+6

(9) —4x(=7)—(-9) x4

(11) —30 = (=5) — (—8) x (—5)

(13) 7x (=3)+ (=5) x (—2)

(15) =5 x 9 — (—56) = 8

(17) 9 x 3+ (—32) =4

(19) 5 x 7+ (—8) x 6
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(2) 36+ (—9)+ (=72) + (—8)

(4) 3x(=9) = (=2) x (-4)

(6) 9x 8+ 12+ (—3)

(8) 56 = (=7) — (—4) x 2

(10) -7 x 6+ 16+ 8

(12) 9 x (=5) — (—6) =+ 3

(14) 2 x (=5) +2 x (—4)

(16) —18 =+ (=9) — (—35) = (=7)

(18) -8 x3—4x6

(20) —9 x (=9) — 9 x (—4)

— 13th-note —



3.

-~ EROWALER - £# No.3 -

WOFHHERZ LIRSV,

(1) (—61) x 9 — 174 = 58

(3) 294 = (—98) — (=7) x (—76)

(5) (—=16) x (—=5) —3 x (—97)

(7) 126 + (—6) — (—440) + (—88)

(9) 18 x 2 + (—680) + 85

(2) (—310) = 62 + 455 + (—=7)

(4) (=45) x (=7) + (=2) x (=19)

(6) 31 x 2+ (—234) = (—78)

(8) 74+ 2+ 3 x (—91)

(10) (—=106) =2 + 11 x (—5)

— 13th-note —



4.

WOFHHERZ LIRSV,

(1) 62 +2 x (—2)

(3) 4 x (—6) + (=5)

(5) (—3) x 4 — 32

(7) 8+ (=3) x (—4)

(13) (—4) =277

(15) 9 x (=7) — (=6)?

(17) (-=1)* =7 x (=9)

(19) (=1)% +16 = (—8)
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(2) 12 — (=7) x (~5)

(4) 28 = (=7) + (—6)*

(6) 35+ (—7) + (—5)*

(8) 62 — 8 x (—6)

(10) (=7) x (=7) — 32

(14) 42 — (—54) = (—6)

(16) (—14) + (=7) — 72

(18) (—4)% + (=2) x (-3)

(20) (—81) =9 — (—1)

— 13th-note —



-~ EROWALER - £# No.3 -

5. komEr Lis,

(1) 20 = (=5) +30 = 5 (2) 4—(=3) x (=7)

(3) 5 x (—5) + 2 (4) =9 — 5 x (=5)

(5) 9 x (—3) — 32 (6) 45 +5—6 x (—3)

(7) =9 —(=6) x (=2 (8) 8 x (=7) — (—6)?

(9) 32— 63+ (—9) (10) —9x4+9+3

(11) (=3) x (=7) +7 (12) (=3) x 2+ 6

(13) (=35) = (=5) + (=3)° (14) 7x (=2) + (-4)

(15) —4 —(=2) x (=5) (16) (=35) + (=5) — (—1)
(17) =9 x 8 — 8 x (—8) (18) —8 X 7+63+9
(19) 5% +35+(—7) (20) =9 x (=9) + (=10) = (=5)

— 13th-note —



FEOMAEE - £ No.3
1. wossms Lz,

(1) 3—3x (—6)
21

(3) =3+ (=7)x3
—24

(5) 9—(-14) = (-7)
(7) —4+48 = (—6)

—12

(11) 24 + (—6) — 7
—11

(13) 4 x (=2) +6

(15) 7— (~15) = 5

(19) =6+ 7 x (—9)
—69
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(2) 3—2x (—9)
21

(6) (=21) = (=7) —4

(8) (=3) x 442
—10

(10) 2 — 4 x (=7)
30

(12) =3 +4 x (-5)
—23

(14) 9 x (=9) + (=5)
—86

(16) 49 +~ (=7) + (—5)
—12

(18) =5+ (—9) x 2
—23

(20) 7 — 18 + (—9)

— 13th-note —



. ROFHFEZ LI,
(1) =7x(=4)+(-8) x (=8)
92

(3) 45+ (—9) — (—28) + (—4)
—12

(5) —2x5—54+6
—19

(7) —2x5—12+6
—12

(9) —4x(=7)—(-9) x4
64

(11) =30 = (=5) — (=8) x (=5)
—34

(13) 7x (=3)+ (=5) x (—2)
—11

(15) =5 x 9 — (—56) = 8
—38

(17) 9 x 3+ (—32) =4
19

(19) 5 x 7+ (—8) x 6
—13
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(2) 36+ (—9) + (=72) = (-8)

(4) 3x(=9) = (=2) x (-4)
—35

(6) 9 x 8+12 =+ (—3)
68

(8) 56 = (=7) — (—4) x 2

(10) -7 x 6+ 16+ 8
—40

(12) 9 x (=5) — (—6) =+ 3
—43

(14) 2 x (=5) +2 x (—4)
—18

(16) —18 =+ (=9) — (—35) = (=7)
—3

(18) -8 x3—4x6
—48

(20) —9 x (=9) — 9 x (—4)
117

— 13th-note —



3.

- EEOMAIER - &EH

WOFHEZ L7z X0,

(1) (—61) x 9 — 174 = 58
—9552

(3) 294 + (~98) — (—7) x (—76)
—535

(5) (—16) x (—=5) — 3 x (—97)
371

(7) 126 = (—6) — (—440) = (—88)
—26

(9) 18 x 2 + (—680) + 85
28

No.3 -

(2) (—310) = 62 + 455 + (—=7)
—70

(4) (=45) x (=7) + (=2) x (=19)
353

(6) 31 x 2+ (—234) = (—78)
65

(8) 74+ 2+ 3 x (—91)
—236

(10) (—106) =2+ 11 x (—5)
—108

— 13th-note —
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. KROEEE LS,
(1) 62 +2 x (-2) (2) 12 — (=7) x (=5)
32 —34
(3) 4% (=6) + (=5)° (4) 28+ (=7) + (=6)”
1 32
(5) (—3) x 4 — 32 (6) 35+ (=7) + (=5)
—21 20
(7) 82 4 (—3) x (—4) (8) 62 —8 x (—6)
76 84
(9) 8 x (=2) + (—4) (10) (=7) x (=7) — 32
0 40
(11) (—4) x (=4) + (-2)* (12) (—6)" — (=5) x 4
20 56
(13) (—4) =2 — 72 (14) 42 — (—=54) = (—6)
—51 7
(15) 9 x (=7) — (—6)* (16) (—14) = (=7) — 72
—99 —47
(17) (=1)* =7 x (-9) (18) (—4)" + (—2) x (=3)
64 22
(19) (=1)* +16 = (—8) (20) (—81) =9 — (—1)
-1 —10

— 13th-note —



. ROFHEE LI,

(1) 20+ (-5)+30+5
2

(3) 5% (=5) +2
—23

(5) 9 x (—3) — 32
—36

(9) 32 — 63 = (—9)
16

(1) (=3) x (=) +7
28

(13) (=35) + (=5) + (=3)”

16

(17) =9 x 8 —8 x (—8)
—8

(19) 52+ 35+ (=7)
20
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(2) 4= (=3) x (=7)
—17

(4) =9 —5 x (—5)
16

(6) 45+5—6 x (—3)
27

(8) 8 x (=7) = (=6)°
—92

(10) —~9x4+9=+3
—33

(12) (=3) x 246

(14) 7% (=2) + (—4)
—18

(16) (=35) = (=5) — (~1)°

6

(18) -8 x 7+63+9
—49

(20) =9 x (=9) + (—10) = (=5)

83

— 13th-note —



